Gegeben:

m;:=20gm my:=2 gm m3:=10 gm L:==90mm [,:=68mm [;:=96mm [,:=130 mm

T, =280 mm Y, :=—30 mm

Fi:=m;+g=020N Fyi=my+g=0.02 N Fyi=m3.g=0.10N
Fl ke
My=——— KraftemaRstab
85 mm
Statik der Krafte:
> F,=0 —F,—Fy—F3+Fy,+F,;, =0
ZF1‘=0 —FU1‘+F4I=O
Fo __ 0
Fy, Ty
Fyy _ Y= Ys

Fyy xy4—wy

>M,=0 —Fycx—Fyexy—Fy w3+ Fyyo )+ Fyp oy, =0

> M, =0 —F[)y-a:4—FOZ-y4+F1-<:134—I1>+F2-<z4—a:2>+F3-<a:4—m3>=0

geometrische Beziehungen:

L=z +y,°
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Schatzwerte

Nebenbedingungen

Gleichungsléser

Dipl.—Ing. Volker Lehner

Fy,=1N Fo,==1N Fyu=1N F,=1N

24

T :=38mm x,:=100 mm z3:=190 mm

y;:=85 mm Yy :=110 mm Y3 :=122 mm 10 Unbekannte

—F,—Fy—F3+Fy,+F,,=0 10 Gleichungen

—Fy,+F,,=0
Fo_ ¥
F[)z Ty

Fy, - <y4 = y3>

Fyy Ly— XT3

) 2 2
ly" = <w3 = 132) =+ <y2 = y3)

2 2

L’ = <m4 = 5”3) =+ <y4 = y3)

—Fiexy—Fyexy—F3ex3+Fy 2y +Fypoy,=0

—F0y°I4—Foz'y4+F1-($4—1E1)+F2°<$4—12>+F3-<£E4—$3>=O

[ Fo, (2.98-107) N
Fo, (2.07-10") N
Fyy (3.01-107) N
Fyy (1.07-107) N

—4
2; ::ﬁnd<F()Z7F0yaF4va4y7m17:1;27mi<}7y17y27Y3>: 82(2)-13’122
T3 (2.80-107") m.
Y1 -9.00-10% m
Y2 -1.23-10"'m
Y3 —1.60-10"' m

Fy=\Fy," +F,,* =(2.0655-107") N
Fy=\F,* +F,* =(1.0731.10") N

z;=0.13 mm

Fo,=(2.9803-107") N Fy,=(2.0655-107") N

F,=(3.0096-10"") N F,,=(1.0731.107") N

T, =132.156mm 3=279.64mm y,=-90.03mm y,=-123.10mm  y;=-160.03 mm

0 4 FOz F4z
lpg:=——=289.51 mm lpyi=——=46.51 mm =0.13 mm =0.13 mm
M; My My My
F, Fy
—=21.06 gm —=10.94 gm
g g
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